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	Label points as shown in the diagram

(s CDK and CEK are congruent
(by construction - the paper was folded)


	( DCK = ( ECK = xo
(corresponding angles in congruent triangles)
	( DKC = Angle EKC = yo
(corresponding angles in congruent triangles)
	Extend (produce) the line KE to  meet the side BC at H

	( KEC = 90o
(corner of rectangle)

( HEC = ( KEC = 90o
(adjacent angles on a straight line)


	FG is a line of symmetry
( FG bisects KH 
( KE = EH
( in (s KEC and HEC 

KE = EH

EC is common to both (s

( HEC = ( KEC = 90o
( (s KEC, HEC are congruent (SAS)

	(s KEC, HEC are congruent
( ( ECK = ( ECH = xo
(corresponding (s of congruent (s)
( ( ECK = ( ECH = ( DCK = xo

	( ECK + ( ECH + ( DCK = 90o

(corner of the rectangle)
( 3x = 90

( xo = 30o
( yo = 60o
(sum of the angles in (s KEC and HEC)
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